

NEW

Purchase Order # 2QQA2756

Total (USD): \$7,620.00

## **Order Inquiries**

Artistic Promotions, LLC 15382 West 66th Avenue Suite A ARVADA, CO 80007

Phone: 303-759-5559

## **Billing & Payment**

PLEASE EMAIL ALL INVOICES TO:

invoice@aiacorporation.com as a PDF attachment.

NOTE: to ensure timely payment, invoices for this order **MUST include the PO#.** 

AIA Corporation P.O. Box 7378 Appleton, WI 54912 Phone:920-886-3700 Fax:920-886-3858

### **Order Contact**

Cheri Smith cheri@artisticpromo.com 3037595559

### **Sales Person**

Cheri Smith

### **Order Date**

11/16/2023

### Vendor

Gbag Inc 19551 Montevina Rd Los Gatos, CA 95033-9107 United States info@gbag.net (888) 855-6686

## Ship To

See Below

# Shipment 1 of 2

Product #	Description		Qty	Cost	Total Cost
L1707	Cross Body Bag with Printed Handle/Str	ap - 16" x 12" x 6"	2000		
			2000	\$1.99	\$3,980.00
		16" x 12" x 6			
	Custom	2000			
	Plate Charge		7	\$150.00	\$1,050.00
	Express Freight		2000	\$0.20	\$400.00

Product # Description Total Qty Cost Cost

## **Shipping Details**

From: Gbag Inc To: ECC, LLC Blind Ship

## Andrea Lyle

17175 Von Karman Ave

Suite 108 Irvine, CA 92614 United States

In-Hands Date: 1/25/2024 Ship Via: Best Way

### **Decoration Details**

Proof Required: Email

Proof Email Address: cheri@artisticpromo.com

**Download Artwork & Files:** 



ECC Custom Tote Bag Back Nov 2023.pdf

#### Notes: .

This is a custom laminated bag - the item number may not be correct Same bag as PO 2QQA2036 but with Cross Body Handle and No Snap

Size: Same as PO 2QQA2036 16" x 12" x 6", Square Corners

Reference Quote Dated 11/13/23

Reference PO 2QQA2036 from 2022 for Bag size, front and gusset artwork. New art is attached for the back.

This bag will have a long handle going from gusset to gusset. The imprint on the handle will be the same as the gusset (repeating 3 times with equal spacing on each side.

				Total
Product #	Description	Qty	Cost	Cost

Instructions: .

Front Design: Graffiti Wall with ECC logo

Back Design: Black background with Royal Blue PMS 072C boxes behind headers; White Text

An Industry Leader in Multi-Family, Hospitality & Commercial Exterior Renovations

Services

**Exterior Painting** Roof Replacement Flat Roof Coatings

Siding & Trim Replacements

Structural Repairs Deck & Balcony Repairs

Floor Coatings & Waterproofing

Service Areas

Colorado

California

Texas

Arizona

Oregon

Washington

Nevada

Utah

Florida

Georgia

QR Code

Website

Phone Number

Gusset: Black background with ECC Oval with Executive Coatings (in White) And Contracting in Blue PMS 072C (Starting at bottom on the right gusset and going towards top of bag, across the handle and down the left gusset). Please change the orientation of the left gusset so it starts at the top.

Handle Style: Cross Body

Handle Art: Same as Gusset Repeating on Strap

with equal spacing on each end

Imprint Color: Blue 072C and W

Totals (USD)

\$5,430.00

## Shipment 2 of 2

Product #	Description	Qty	Cost	Total Cost
L1707	Cross Body Bag with Printed Handle/Strap - 16" x 12" x 6"	1000		
		1000	\$1.99	\$1,990.00
		3 " x 18 " x 24 "		
	Custom/Polyethylene (Pe)	1000		
	Express Freight	1000	\$0.20	\$200.00

Product # Cost **Total Cost** Description Qty **Shipping Details** From: Gbag Inc To: ECC, LLC Blind Ship Miranda Smith 9849 E Easter Ave Centennial, CO 80112-3723 **United States** In-Hands Date: 1/25/2024 Ship Via: Best Way **Decoration Details** Proof Required: Email Proof Email Address: cheri@artisticpromo.com ECC Custom Tote Bag Back Nov 2023.pdf **Download Artwork & Files:** Totals (USD) \$2,190.00

Total (USD): \$7,620.00

When shipping regulated goods, the Supplier is responsible for compliance with California Proposition 65 and any other applicable state or federal regulations including product labeling, warning requirements and meeting the standards for content for substances deemed hazardous by the regulations.

By acceptance of the Purchase Order, Supplier represents that it has reviewed the Terms and Conditions as stated and present ed at <a href="https://www.aiacommunity.com">www.aiacommunity.com</a>. If there is a conflict between the Purchase Order and the Terms and Conditions on the website, the website Terms and Conditions will govern this transaction.